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16U/102/10 Set No. 1

Time/¥W4 : 2 Hours/H02 Full Marks/quifs : 300

Note/qZ: (1) Attempt as many questions as you can. Each question carries 3 marks.

(152)

(2)

(3)

One mark will be deducted for each incorrect answer. Zero mark will be

awarded for each unattempted question.

aﬁmﬁmmﬁaﬁwmﬁmmaﬁlmwaﬁ%*w%jm

gm%ﬁm@aﬁmmmlmaﬂmmmmsﬁ
|

If more than one alternative answers seem to be approximate to the
correct answer, choose the closest one. -

g&mﬁmmmaﬁm%ﬁﬁmﬁ?,ﬁﬁwqﬁm
I

This paper comprises of Five Sections. Sections I and Il are compulsory
whereas only one Section out of III, IV and V is to be attempted.

WWWMWMWI@IIﬂﬁﬂﬁﬂlEWHLWH
VR uw wow o 2
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5.

(152)

Section—I

Qug—I|

MENTAL AGILITY
(Compulsory for all)

Five friends A, B, C, D and E are sitting together. In how many ways can they sit
so that B and C do not sit together?

g fid A B,C,D 3N E @ @Y 83 €| 98 foha? qfiel & 30 @@ o3 waha ® b
B3R C wF gy 7 E?

(1) 64 (2) 76 (3) 68 (4) 72

There are deer and peacocks in a zoo. By counting heads they are 80. The
number of their legs are 200. How many peacocks are there?

w ffsara § #§ fww ol A §) fedl @ W IR " 80 R Ik WA
g 200 B gl fhad A €7

(1) 20 (2) 30 (3) 50 (4) 60
Find the number which when added to itself 13 times, gives 112
el dEn 30 TEn § 13 9 SIgd §, g9 112 § S @, @ §en h Hw
(1) 7 (2) 8 (3) 9 (4) 11
If GIVE is coded as 5137 and BAT is coded as 924, then GATE is coded as
2 GIVE $ ®ifén 5137 R 3R BAT # FfeT 924 3 @ GATE &t Fifen g
(1) 5427 (2) 2547 (3) 5247 (4) 5724
Which is the next number in the following series?
S s § ¥ e wen w-d R

7.28, 49,70, 91, 112,

) 135 (2) 134 (3) £33 (4) 130



6.

(152)

Find out the missing number in the following figure :

AR
SN TN

(1) 52 (2) 36 (3) 117 (4) 81

If the numbers from 5 to 85 which are exactly divisible by 5 are arranged in
descending order, which would come at the eleventh place from the bottom?

(1) 45 (2) so
(3) 60 (4) None of the above

sﬁssﬁmmaﬂaﬁﬁ%sﬁ@h:mﬁ,ﬁﬂzﬁm%w%@%
WA H 3 A AR A ared e W ame

(1) 45 (2) 50
(3) 60 (4) SWH § NS 7F

In a row of boys, if Amit who is 10th from the left and Bini

o P A " who is 9th from the
nght interchanges their positions, Amit becomes 15th from left. How
are there in the row? many boys

amﬁﬁqmﬁﬁﬁﬁ,aﬁmﬁaaﬁ%aﬁﬁloﬁéaﬂtﬁﬁaﬁ%

Qﬁwﬁﬁmﬂﬁwéﬂﬁ,ma@gaﬁﬁlﬁiﬁw%
gfeh # forae oo &2

(1) 23 (2) 27 (3) 28

™ @ of @
| T B g

(4) 31

(P.T.0,)



9.

10.

11.

12.

(152)

How many triangles are contained in the figure given below?

freffian smpf & B e ot § 7

=k @ 10 3) 12 @ 14

A and B are brothers, C and D are sisters. A’s son is D’s brother. How is B
iclated L0 C?

(1) Father (2) Brother (38) Grandfather (4) Uncle

M A R B Th-g & W ¥ W@ C 3R D W-qW f T ¥ Aw A B aSH

D # Wi ®, @ B 3 C 1 gy 491 R?
(1) faar (2) W (3) T (4) =T

Two persons A and B started from two different places towards each other. I f the
ratio of their speeds is 4 : 7, then what is the ratio of distance covered by A and
B respectively till the point of meeting?

A s A R B @ fifm ol 3 wheg@ R s T # ARk e A w
w4:7%,ﬁm@—q§i%ﬁaﬁﬁimwmmaﬁ®@ﬁm
S M F?

(1) ok (2) 3:4 (3) 4:7 (4) 5:3

A train, which is 700 metres long, is running at the speed of 72 kilometres per
hour I’f it crosses a tunnel in one minute, then the length of the tunnel is

[1) 70 metres (2) 600 metres (3} 550 metres (4) 500 metres



13.

14.

lsl

16.

(152)

_am-mmasoovoqzam*mﬂw

@ W A % 700 e et R, 72 frarfie wfa o f 1t @ 59 @& R amw
T T G (W) N @ e F IR w2, D ogon B owwrd g @i

(1) 70 #x (2) 600 Hw (3) 550 wHw (4) 500 #Hix
Ir§»=§3=§, then 242%¢ i e
c
?Tﬁ:g—:%:;,?ﬁ a+:+c'€ffﬂ
17 () 2 (3) & (4) 1

How many combinations of two-digit numbers having 8 can be made from the
following numbers?

Frefefen wensl § den 8 Wi qY, @ wEw AW B SR A
8,521,7,6
(1) 9 (2) 10 (3) 11 (4) 12

Arrange the given words in the sequence in which they occur in the
and then choose the correct sequence :

M A R & wed ﬁﬂiﬁm%mmaﬂﬁqmm

T w W W= AR .

dictionary

(a) Fledge, (b) Fleecy, (c) Flesh, (d) Fleece, (e) Fleet
(1) @), (), (c), (d), (e) 2 (a), (d), (b), (e), (c)
(3) (@), (c), (d), (), (b) @) (@), (d), (e), (b), (¢

The difference between the interest received from two differ,

c
for 2 years is Rs 2:50. The difference between their inte Nt banks on Rs 500

Test rates jg
R B AR e e 250‘"%&‘1?413%
(1) 1% (2) 0-50% (3) 2:50%

(4) 0250
5

(P10,
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18.

19.

20.

21.

(152)

The number 12345674 is divisible by
g 12345674 = # fead a7
(1) 3 (2) 15 (3) 9 4) 11

Which Indian Air-Base was attacked by Terrorists during the year, 2016 ?

(1) Agra (2) Kalaikunda  (3) Pathankot (4) Gurudaspur
¥ 2016 ¥ 2NF, A F FF A TEOE-IG W ARG N THA R T e
(1) smm (2) FARFEI (3) TOHHIZ (4) TEEEYT

Which of the following four crops listed below, is not a pulse crop?
(1) Moong (2) Black gram  (3) Paddy (4) Peas
ﬁﬁﬁf@ﬁaﬂmﬁﬁ%aﬁ?—mwwﬂwqﬁ%?

(1) " (2) = (3) 9™ (4) "X
Which one of the following crops is not a Rabi crop?

(1) Mustard (2) Wheat (3) Paddy (4) Peas
Wﬁﬁﬁ—ﬁm@ﬁmaﬁ%?

(1) @@ @ ¥ (3) 9 @) T
If x = -3, then 3 - x? - x will be equal to

A -3 8, @ X%~ x% —x ® A W
(2) -27 (3) -33 (4) 54

afe x @
(1) 19



22.

23.

24.

25.

(152)

There is a number greater than 1 which when divided by 4, 5 and 6 leaves
remainder of 3 in each case. Find the largest number smaller than 1000 which
satisfies the above condition.

T T 1 ¥ ofF A T 99 4, 5 3 6 A i & w2, @ @ft @ 3 9
9 /) TR TR W 1000 ¥ B TR F-¥ wEw 2, N B 39 FOH W GG 27

(1) 957 (2) 993 (3) 960 (4) 963

Colorless, odourless and non-corrosive air-pollutant is

ﬁmﬁwﬁtq%,ﬁmﬁmﬁﬁa%aﬂ(ﬁmﬁwﬁm%,m—lﬂﬂ-miﬁ
W R

(1) SO, (2) Co (3) COo, 4) O,

Ajay ranked sixteenth from the top and twenty-ninth from the bottom among

those who passed an examination. Six boys did Mot participate in the
competition and five failed in it. How many boys were there in the class?

w A & vlen sl ¥ e e A derd ok 9 @

mmﬁmwmmmmﬁwmﬁ*mﬁ;ﬁ:@;ﬁg

(1) 40 (2) 44 (3) 50 (4) 55

If the seventh day of a month is three da ‘ -
ys earlier than Fr
be on the nineteenth day of the month? Friday, what day wi] jt

(1) Sunday (2) Monday (3) Wednesday (4 Frig
MR & TR F wed R YFaR ¥ d foy Y
f g7 mm%’m“‘"ﬁ”ﬁ%mﬁ
(1) TEw (2) Hra (3) gHam @ I
7

(P.T0,)



26.

27.

28.

29.

Section—II
Qug—II

CHEMISTRY
(Compulsory for all)

The intermediate involved in S 1 reaction is

) reabasmion (2) radical (3) carbene (4) carbocation
Syl fufean # afdifera oFa:xg R

(1) FoTR @ Wwa (3 FWN (4) FTRTHITH
Three classes of alcohols may be distinguished by

(1) oxidation (2) reduction (3) pyrolysis .(4] cleavage
wERE & @9 ER F wig fen 1w R

(1) SHfRETE G (2) ReRH o (3) TRifRE g (4) S g

The carbolic acid 1s

Fatfe® o ¢
(1) C¢HsCOOH (2) HCOOH (3) CH,COOH  (4) C¢HsOH
6

The mechanism of dehydration of an alcohol to give an alkene involves

formatfon of

(1) carbanions (2) carbenes (3) free radicals (4) carbonium ions

@qmm%%ﬁ@mﬁﬁmﬂmﬁﬁqﬁ@rMW

e 27
@) i @) RWRFW (1) FEiFEm s



30.

31.

32.

33.

(152)

Which of the following is an example of a condensation polymer?

(1) Nylon-6:10 (2) High density polyethylene
(3) Orlon (4) Teflon
mﬁﬁm-m@ﬁmawmm%?

(1) T™EA-6-10 (2) 3= W@ viferefafem

(3) @ (4) Hata

Primary alcohols are oxidized to aldehydes by

(1) KMnO, (2) K,Cr,0,

(3) R,Culi ~ (4) pyridinium chlorochromate
SR TehleeEe e g sitediem @ ofeserssl § oafle @ 2
(1) KMnO, gm (2) K,Cr,0, g

(3) R,Culi gr (4) Rfsfam FerEme go

A strong base can abstract an «-hydrogens from

(1) alkene (2) ketone (3) alkane (4) amine
U I a1 T &R o-FREINA 3 frm 2

(1) whe @ (2) FM A (3) T @ (4) w7 @

The reaction among a primary amine, chloroform and few drops of alcoholic
KOH is known as

(I) Carbylamine reaction (2) Mendius reaction
(3) Perkin reaction (4) Reimer-Tiemann reaction
@mw,mﬁwmﬁmﬁxwﬁ%a}mwg
(1) Fffaria sl (2) HFfew il
(3) W i (4) TR aifgy

9

(P.T.0)
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3S5.

36.

37.

(152)

Benzene diazonium chloride reacts with hypophosphorus acid to form

(1) aniline (2) benzene (3) phenol (4) benzaldehyde
N FH@ R T A SASRH FATE TRUABEHE e & @ dAfha = &
(1) TR (2) a=f (3) %R (4) d=fesase

The number of o- and B-particles emitted in the nuclear reaction
00 Th*® o £,Bi%1? js

(1) 4o and B (2) 8 and 1B (3) 3w and 7B (4) 4 and 7B

%&aﬁh Afufern (Fffwm fowq)  Th2® o, Bi*2 @ fdd o- 3 @ Iwfla
?

(1) 4a T 1 (2) 8« T 1P (3) 3 W 7B (4) 40 @ B

For the reaction, 2NO,(g)+ $0,(g) > N,0¢(g), if the equilibrium constant is

K ,. then the equilibrium constant for the reaction, 2N,05(g) & N,0, +0,(g)
would be

T AT 2NO,(g)+10,(g) o N,04(g) ¥ IR = fAw® K, 2, @
AT 2N,04(g) © N,0, +0,(g) F &= s Fn gm?

2

1
ll) K2 (2) (3) — (4) 2Kp
P K2 K

The pH of a 0-1 molar solution of the acid HQ is 3. The value of the ionization
constant, K, of the acid is

w o HQ % 01 e feR (molar solution) F pH 3 RI I 3 H
s e (Ionisation constant) K, & TH F1 M7

(1) 3x107" (2) 1x107° (3) 1x107° (4) 1x10°7

10



38.

39.

41.

(152)

A mixture of ethyl alcohol and propyl alcohol has a vapor pressure of 290 mm at
300 K. The vapor pressure of propyl alcohol is 200 mm. If the mole fracpon of
ethyl alcohol is 0-6, its vapor pressure (in mm) at the same temperature will be

WEA Thled T WIS Tohied % UF fE % 9 @@ 300 K W 290 mm B
MU el 1 W @ 200 mm B1 AR YRS AR H A WS (mole

fraction) 0-6 ?, T IWH 99 A (in mm) I TG W TN AM?
(1) 350 (2) 300 (3) 700 (4) 360

The vapor pressure of water at 20 °C is 17-5 mm Hg. 1If 18 g glucose (C¢H,,04)is
added to 1782 g of water at the same temperature, the vapor pressure (mm Hg)

of the resulting solution will be

20 °C AWM W UHl F AW g 17-5 mm Hg 1 I GES (C4H,,0,) ¥ 18 ¢
YRHTY H1 I AHE W 1782 g U # framn wm, @ oRomees @ R @
9™ qE (mm Hg) F41 &m?

(1) 17-675 (2) 17-325 (3) 16:500 (4) 15750

The van’t Hoff factor of BaCl, at 0-01 M concentration is 1-98. The

; percentage of
dissociation of BaCl, at this concentration is

001 M &5 & BaCl, # 9= &% %9 198 B 0 Wiwgm 4 BaCl, #
sfoera fames dm

(1) 49 (2) 69 (3) 89 (4) 98

The highest electrical conductivity of the following aqueous solutions s of

(1) 0-1 M difluoroacetic acid (2) 0-1 M fluoroacetic acid

(3) 0'1 M chloroacetic acid (4) 01 M acetic acig

ﬁm%ﬁgawﬂaﬁwﬁﬁﬁmﬁﬁgammaﬁaﬁt?
(1) 01 M SEwRICReT awer 2) 01 M YRR e
(3) 0-1 M FARITRifes anat (4) O'IMWW

11
(P.T.0,)



92,

43.

44.

45.

(152)

What is the time (in sec) required for depositing all the silver present in 125 ml
of 1 M AgNO; solution by passing a current of 24125 A? (1 F = 96500 C)

I M AgNO, T[98 & 125 ml & <X WS ®ff 91 # whbd F0 & A v
T ({Fs #) 7% 24125 A frge yafea & dm? (1 F = 96500 C)

(1) 10 (2) 50 (3) 100 (4) 1000

Solubility of the BaSO,, SrSO,, CaSO, and MgSO, in water increases in the
order given below :

RaSO,, Sr80,, CaSO, T MgSO, # v #f fyemar 2 22 w0 d wed ? :
(1) BaSO, < SrSO, < CaS0, < MgSO,
(2) SrSO, < BaSO, < CaSO, < MgSO,
(3) CaSO, < MgSO, < SrSO, < BaSO,

(4) MgSO, < CaSO, < BaSO, < SrSO,

The dead burnt plaster is

T e e
(1) CaSO, -3H,0 (2) CaSO, -2H,0
(3) CaSO, | (4) CaSO, -H,0

Lassaigne’s test is for
(1) nitrogen (2) cadmium (3) chromium (4) zinc
e v e A } fors forg 27

e (2) e (3) wifEm (4) fw

12



46. Which of the following is soluble in ethanol?
e d A @ e § RENIC I

(1) BeCl, (2) CacCl, (3) BaCl, ) srcl,

47. Formula of Calgon is
T H gI @
(1) NagPs0,, (2) Na,PO, (3) Na,PO, (4) Na,HPO,
48. Ore of iron is
(1) magnetite (2) sphalerite (3) malachite (4) kaolinite
AR T R
(1) M2 (2) Thage (3) A (4) Freitfemrse
49. Which of the following has angular shape? '
Bt % 2 A Wb sy T 30 |
(1) N0, (2) N,0, (3) N,O; (4 No,
50. Bronze is an alloy of the following
(1) Copper and Zinc

(2) Copper and Tin
(3) Iron and Chromiym

Ftar (sivr) o &1 Ry o 2
(1) ater o& s (2) a1 @ fm
(3) e @& i (4) o @ iy

(4). Iron and Manganese

(152) 13

(P.T.0)



Section—III
gus—III
BOTANY and ZOOLOGY

(Botany)
51. Stem and root tips die due to the deficiency of

(1) calcium (2) nitrogen (3) sulphur (4) phosphorus

0 A 9% F o R fee wh A ga T S R?
(1) ¥fAmm (2) RZISH (3) T (4) BIEHTE
52. The Second International Rice Congress was held in

(1) Bangkok (2) Manila (3) New Delhi (4) Kualalumpur

fdv o e #E B doh g A

(1) ¥ (2) when 3 o HRGE (@) TR d
53. Edible part of onion is

(1) bulb (2) corm (3) rhizome (4) stem cutting

R 27

(1) s @) % (3) T (4) @ F
54. One¢ internode long phylloclade is

(1) culm (2) cladode (3) bladder (4) pulvinus

& A o frare A Fed T

(1) FA (2) T (3) (4) e

14
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55. The acid rain destroys vegetation because it contains

(1) ozone (2) sulphuric acid

(3) citric acid (4) carbon monoxide

Wt anf e B T oW R, i o 2

(1) 3 2w o (3) Riw o (4) et e

§6. The Central Tobacco Research Institute is located at
(1) Kolkata (2) Viayawada (3) Hyderabad () Rajmundary
W T, gH e ! R 27
(1) iewprar (2) foemam (3) ¥ewmmg (4) Tt

57. Yellow Revolution is most suitable for

(1) desert areas | (2) less irrigated areag
(3) highly irrigated areas (4) hilly areas
fieft 9l Igw 2
(1) oq¢ &3 & (2) ¥ e A &y
(3) W ferd Tt &3 & | (4) Ter @y §
58. Black soil is best suited for
(1) cotton (2) coffee (3) rice (4 teq
Fell Jq1 FEE ITY R
(1) @ & (2) # (3) =@ # ) i
(152) 15

(F‘.T.O.)



59.

60.

61.

62.

63.

lodine is obtained from

(1) Laminaria (2) Polysiphonia (3) Chara (4) Spirogyra
st g fRn s 2

(1) M a (o) vidharwRE A (3) @77 @ (4) TR B
Which vegetable oil is suitable for heart patients?

(1) Sunflower oil (2) Groundnut oil

(3) Mustard oil (4) Soyabean oil

g@-Ui % T Sugeh avefd dd 2
(1) ged T () qTEeh dw (3) @I 4@ (4) QEEH dd

Polyploidy can be produced artificially by

(1) colchicine (2) interbreeding (3) line breeding (4) self-pollination

Tﬁqmﬁa@ﬁmﬁﬁﬁﬁﬁmmm?

(1) HewF T 2) seifEn g
() Y s S (4) - g
An example for semi-dwarf variety of wheat is
(1) IR-8 (2) Sonalika (3) Triticum A —
ﬁ't'-:‘m‘:l g et 1 ITRWT R
I, e @) Fkmr (@) R (@) e
Basic unit of classification is

(2) family (3) species 4) order

() e
16

(152)



65.

66.

67.

(152)

i w1 Ity g R
(1) sf=g (2) Hfech (3) | (4) AT

Triticale is obtained by crossing wheat with

(1) oat (2) barley (3) maize (4) rye
ﬁ%mmmwﬁ%mﬁﬂjwt?
(1) e (2) s (3) wa (4)

Kranti, Pusa Agarni and Pusa Bold are improved varieties of

(1) Urad bean (2) Sunflower (3) Chick pea (4) Mustard
Wﬁ,mmmmaﬁaﬁmﬁsmﬁm%?

(1) 3@ & (2) gt (3) "X (4) @l

Which one is not a source of carbohydrate?

(1) Rice (2) Millet (3) Sorghum = @) Gram

fa 4 & o FETEITGT F AT TE 27

(1) wraw @ fe (3 wEwm (4) =

The method of correcting the defective genes is called

(1) genetic engineering (2) gene therapy

(3) somatic hybridisation (4) protoplast fygjon

gl S A GE TR W o 2

1) s s (2) 9 R 3) 3w wam _

(1) 3) afe ) Wy e
17

(P.T.0,)
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69.

70.

71.

72.

(152)

Hybrid vigour can be maintained for long periods by

(1) clonal selection (2) cross-pollination

(3) mutation (4) self-fertilization

o yWE @ gug & fau iafia e s R

(1) ¥ 99 g (2) W-TEW gA (3) IR g (4) @-fE=R g

Genetic variability cannot be created by

(1) binary fission (2) mutation

(3) clonal selection (4) hybridisation

Ha frm e gr o 22

(1) fg-wst (2) JaaRada (3) T W (4) FF

Jaya and Ratna developed by Green Revolution in India are the varieties of
(1) maize (2) paddy (3) wheat (4) bajra

o § o w0 % T ReERE w9 o e e 7

(1) W (2) 9= (3) M (4) SR

Pieces of plant used in tissue culture is called

(1) explant (2) somaclone (3) inoculant (4) clone

ﬁﬁﬂagmahmﬁaﬁqﬁmﬂ%mm%
) w9 e (4) T

What is the source of first induced mutation?

1) Gamma-Tay (2) UV-irradiation

) Xeray (4) Cosmic rays

18



73.

74.

7S.

(152)

v Y@ Iaiads & @9 w®m R

(1) T TR (2) UV-fait (3) X-fm (4) FifeE T
Monosomy and trisomy can be represented as ‘

AR qa ZREf # gt w2

(1) 2n+1,2n+3 (2) 2n-1,2n-2

(3) 2n,2n+1 ' (4) 2n-1,2n+2

Which one of the following has maximum diversity in India?

(1) Mango (2) Wheat (3) Tea (4) Teak
ﬁmﬁﬁmﬁmﬁaﬁmﬁrﬁwmﬁm%?
(1) m (2) | (3) =m (4) guie

Somaclonal variation appears in plants

(1) growing in polluted soil or water
{2) exposed to Gamma-rays
(3) raised in tissue culture -

(4) asexual reproduction

mﬁ?ﬁﬂﬂﬁﬁﬂﬁﬂﬁiﬁ%ﬂ%mg};ﬁ%?

(1) Y5 T T 5w R 2 g
(2) T-fEw ¥ T

(3) Fah HadT # 3fy
(4) IFAfiR I

19



76.

77.

78.

(Zoology)

“Omnis cellula e cellula” (All cell from cell). The statement was given by

(1) Robert Brown (2) Rudolf Virchow

(3) M. J. Schleiden (4) Theodor Schwann
“Safrq doqem 3 agen’ (@f SR Ted @ A d A Tl DR F e
¥ T R)| 3@ wYA fead femr an?

(1) U o1 (2) ¥ fFla  (3) Wo o wiA (4) Prrst @R

Inm::r membrane of mitochondria is usually highly convoluted forming series of
folding known as

(1) Cristae (2) Grana (3) Lamelle (4) Thylokoids
Wﬂmﬁ%@m&m@wi@w%mﬁﬁ%,ﬁmm
(1) fwet (2) 3T (3) Wfieh (4) AEAEES

Which of the following represents the correct order in Prophase 1 Meosis
division?

(1) Zygotene, Diplotene, Pachytene, Leptotene, Diakinesis
(2) DiakinESiS, Diplotene, Leptotene, Pachytene, Zygotene
(3) Leptotene:

(4) Pachytene¢,
r@h&mmﬁﬁnﬁ@aﬁﬁﬁa—mﬁwmmm%?

Zygotene, Pachytene, Diplotene, Diakinesis
Leptotene, Zygotene, Diplotene, Diakinesis



79. A, G, Cand T are nitrogenous bases of DNA. The pairing is
nm%mﬂmm,«,e,cqa"rﬁlmw%
(1) A-G, C-T (2) A-T, G-C (3) A-C, G-T (4) A-T, G-T
80. Non-protein 'pairt of an enzyme is known as
(1) coenzyme (2) apoenzyme  (3) holoenzyme  (4) amino acid
A & T1-DAT w01 | s s ?
(1) Hig=mm @) WETEE Q) A (4) wh o

81. The common phase in aerobic and anaerobic respiration is

(1) glycolysis (2) TCA cycle

(3) oxidative phosphorylation (4) Krebs’ cycle

Y 7 A = Y A st R

(1) TR (2) TCA W%

(3) it wiephmem (4) ¥ TF
82. Which State has the 1a

country?

(1) Tamil Nadu (2 Karnataka  (3) yp (4 Rihar
mﬂmwﬁmﬂﬁﬁﬁﬁm«mﬂﬂﬁmg?
(1) AferTg (2 FieF () S (4) Sm

83. The term ‘Evergreen Revolution’ has been given by
(1) Dr. A. S. Faroda

(3) Dr. V. L. Chopra

(152) 21

2) Dr. M. .
(2) Dr. M. s, Swam‘nathan
(4] Dr. R S. Paroda

Tgest acreage and highest production of Sugarcane in

P10,



Tha wifa’ v fohes gro fean w27

(1) o To TWo (2) T TWo THo WIHHIH

(3) o o THo TS (4) Fo Mo Wo W
84. Which one of the following i1s not a steroid hormone?

(1) Aldosterone (2) Androgen (3) Estrogen (4) Thyroxine
frm 3 3 PR =g A T R0
(1) R (2) TR (3) TR (4) o

85. Which of the following food-chain is correct?

(1) Grasses - Chameleon - Insect - Birds
(2) Fallen leaves — Bacteria — Insect - Birds
(3) Grasses - Fox — Rabbit

(4) Phytoplankton - Zooplankton - Fish

ﬁqﬁiﬁﬂﬂﬁﬁmw—i@wwaﬁm%?
(nqra—-)ﬁtﬁlz—nﬁz—maﬁ

[Q]ﬁﬂwﬁﬂ’f-—-‘rm——)ﬁ%ﬂ&ﬁ
(S)W.:,—éwr@——)@vﬁm
(4],5,33@;;‘::—93{5%%-—)%

der Fleming extracted Penicillin from

86. Sir Alexal -
(2) Penicillium notatum

(1) Bacillus brevis -
3) penicillium chrysogenum (4) Penicillium griseofulvin

22
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W IRTR WM 3 PRRE A § 3 Rl P R

(1) aRew g (2) IR eH

(3) e FrEHIRT (4) IRRREm meRmteatE
87. First manmade cereal plant is

(1) Triticale (2) Hordeum vulgare

(3) Secale cereale (4) Oryza sativa

wHa-fffd sy sEmer W dar @oa 2

(1) RfeFa (2) Ofémm semik  (3) Dt (4) S dev

88. Indian Agricultural Research Institute is at

(1) Lucknow (2) New Delhi  (3) Mumbai (4) Hyderabagd
TR PR e e dem wwt fog ??
(1) w& (@) 7 o @) =g (4) ¥

89. Toxic substances like Aflatoxin, Amatoxin and Ergot alkalojq R
called

(1) Mycotoxin (2) Phycotoxin (3) Bryotoxin (4) Fune:
gicid
Rlen vl (oftafn) 93 coemoiafn, et o 5 e

T 3 \%iﬁm
(1) TSl (2) SEEaRY VR LECC Y

4
90. Minisatellites are also Known g
fifeene #t s w2
- 3) STRs
LPs ( 4
(1) VNTRs (2) RF @) R&PDs

23
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91.

Which gene is used for development of salt tolerant crops?
(1) Cry-I gene |

(2) Genes involved in protein (LEA gene) biosynthesis

(3) heat shock protein

(4) Both (2) and (3)
mm&m%%ﬁmsﬁammmma?
(1) Cry-1 stH |

@) sﬁ-a:rm@rwmﬁshﬁmﬁﬁm (LEA )

(3) de @l M

@) (@) ¥ (@)

propagation (vegctatwc propagation) of papaya is done through

92. Commercial
(1] pudding (2) layering (3) seeds (4) cutting
3 g e (i yad) @
3 2) Aaf @ 3) & @ 4) #Ffon @
(1) ﬁ’tﬂ (2) (3) (4)
powdery dew of pea is caused by
3, Pov
? rus. (2) fungus (3) bacteria (4) Protozoa
1) Vi
(ngﬂ ¢ R R F A
Ty (2) F% (3) Sy CRIEEE
An jdoat ® gySWw  © tesimation for young plantation is

2\ tarrow
St em U furro System (3] ﬂ[ od grste (4) Sm SYt
D s‘em
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I RY T ey fawrd @ w2

(1) Jage (&) 3 (2) W d=
(3) S8R = (4) & (7)) &=

95. Sweetest sugar in fruit is
(1) sucrose (2) fructose (3) glucose (4) galactose
Bt e 2
(1) g (2) BRI (3) T (4) RN

96. Which of the following transgenic crops has maximum cultivated area in the
world?
(1) Soyabean (2) Rice (3) Cotton (4) Maize
ﬁwaﬁn%%aﬁaﬁmmﬁmmﬁmmaﬂ@?ﬁmmp
(1) arafem (2) (3) +U (4) wem

97. Pollen basket occurs in honeybee on
(1) prothoracic leg (2) mesothoracice leg
(3) metathoracic leg (4) union of thorax and abdomen
TR § W siehe T 2 -
(1) NeafF R w (2) fEatfe 9 o
(3) HeriRfe R w () T M g o

98. Which of the following phylum/ phyla is/are exclusive Marines

(1) Porifera (2) Arthropoda
(3) Echinodermata (4) Protozoa
(152) 25
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fFefafes # @ F-w1 gu ol &9 @ TR RY
(1) IO (2) IngErET (3) THIEABH (4) SrIiem

99. Which of the following is not found in vertebrate?

(1) Body scales (2) Cnidoblast

(3) Gill opening (4) Bilateral symmetry
Sreffagn ¥ Q # wfSRe § a8 R e

(1) vt W & (2) Frrsem=

(3) frd gr (4) SEa@ gAffd

100. Which of the following correctly matched regarding an institute and its location?
(1) National Institute of Virology—Pune
(2) Central Drug Research Institute—Kasauli
(3) National Institute of Nutrition—Mumbai

(4) National Institute of Communicable Diseases—Lucknow

(152)



Section—IV
Qug—IV
AGRICULTURE

101. Maximum area under drip irrigation is in

(1) Uttar Pradesh (2) Maharashtra

(3) Gujarat (4) Punjab

fu e & swwia sfteean & aen a9 R

() SWRad (2 mwrgd  (3) oW A (4) W #
102. Most poisonous pollutant in water is

(1) arsenic (2) propane

(3) methyl isocyanate (4) carbaryl

9o # e Felen 5qE

(1) JmEfs (2) W=

(3) Fede smErETe (4) wmtde

103. NABARD was established in the year

Tars few af wfia gan wi?

(1) 1982 (2) 1983 (3) 1984 (4) 1985
104. First All India Coordinated Research Project was 'initié.ted in the crop

(1) maize (2) wheat (3) paddy (4) sorghum

(152) 27 (P.T.0.)



113.

114,

115.

116.

117.

(152)

The C:N ratio of humus is

THE ® C:N W el

(1) 10:1 (2) 12:1 (3) 15:1 (4) 20:1
Nitrogen content in urea is

gfen & T R oA R

(1) 42% (2) 46% (3) 48% (4) 50%

Highest use of potassic fertilizer is in the State of

(1) Maharashtra (2) Andhra Pradesh
(3) Tamil Nadu (4) Punjab
fbg T § gaifs drem 4w @ g 7
(1) #ERTE (2) SN (3) TS (4) ToTa
Richest source of vitamin C is
(1) Barbados cherry (2) Citrus
(3) Tomato (4) Melon
frerfim ¢ waifues fred @an R7
(1) sTEeE w0 (2) = (3) & (4) TS
Highest onion production is in the State of
(1) Uttar Pradesh | (2) Maharashtra
(3) Punjab (4) Madhya Pradesh
30



118.

119.

120.

121.

(152)

IS 1 IAEA gaiteew ﬁm 79§ Aar 87
(1) 3T RA (2) TERTE (3) U (4) TEATRW
Edibl:: part of fruits of papaya is

(1) mesocarp (2) pericarp (3) endosperm (4} placenta
Tfit & W F GRI-NE 7

(1) Hetwmd (2) Y (3) wered (4) <=
Plant family of mango is
(1) Anacardiaceae (2) Malvaceae

(3) Solanaceae (4) Pedaliaceae
3 fhg Uy ufEm # a R7

(1) wEfdwdt  (2) e (3) Freret (4) Aea
The tree banding is useful for the control of which pest?
(1) Mango mealy bug (2) Chilo partellus

(3) Thrips (4) Whitefly
& AR i Az & P g Iwh 27

(1) &0 At @ () wEA Wew  (3) e

The main characteristic feature of an insect is

(4) T

(1) three pairs of legs (2) Malpighian tuby],
es

(3) digestive system (4) antenng

31
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W # A g e i 7 27
SR @) A st
() e (4)

122. ITh.e hzadquarters of “Directorate of Plant Protection, Quarantine and Storage” is
ocated at

(1) Faridabad (2) Hyderabad  (3) Ghaziabad  (4) Pune
R MR, TR W KR fewed’” w1 qede w7l fea 87
(1) wiear (2) SR (3) ST (4) ™

123. - Vector of cotton leaf curl virus 18

(1) Thrips (2) Whitefly (3) Beetles (4) Mites
U A P dRE H AE B 7
(1) form (2) WS (3) sfeew (4) HECH

124. Egg parasitoid for biological control is

(1) Trichogramma spp (2) Cotesia spp

(3) Bracon hebetor (4) Campoletis chlorideae

S e ¥ 311 AR 2
(1) g EHE
(3) 7@ T

) Ffe T
(4) FFIAE FAIE

(152) 32



125.

126.

127.

128.

(152)

Chewing and lapping type of mouth parts is found in

(1) Honeybee (2) Thrips (3) Housefly (4) Aphids
M IR TR I gE@ o e a2

(1) mywEh (2) R (3) T (4) Tfrem
Father of Modern Plant Pathology is

(1) Louis Pasteur (2) Anton de Berry

(3) Van Schmeling (4) Rudolf von

yfT e I fgm & T &

(1) 38 IR 2 RS I (3 T A (4) wIew a7

Bordeaux mixture was developed by

(1) Millardet (2) Fleming (3) Scholz (4) Todd
sqiFw fevr Rk g0 AR R o
(1) fremde  (2) wfim (3) Wt (4) 3

Bengal famine occurs due to
{1) brown spot of rice (2) Helmmthosponum yzae
(3) phytophthora (4) Both (1) and ()

TR U IAEE T OFE O

(1) T = I e = (2) TG S
(3) AT @ (1) E @) 3

33
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129. Causal organism of citrus canker is

(1) bacteria (2) fungi (3) actinomycetes (4) virus
foga = =1 w1 R
(1) Sy (2) e (3) FAmmsfada  (4) fammy
130. The disease caused by Puccinia graminis tritici in wheat is
(1) black rust (2) stem rust
(3) yellow rust (4) Both (1) and (2)
wtfen i Bt i e dm 7
(1) =% & (2) BF W (3) ¥ W @) (1) @ (2) a

131. Fusarium wilt occurs due to a fungal organism which is

(1) soil-borne (2) air-borne

(3) water-borne (4) None of the above

m@mﬁ—@%@msﬂa%mﬁm%?

(1) frgef (2) I
(3) e (4) IR & & ¢ T

132. Which drill machine is suitable for high residue retention condition?

(1) Happy Turbo Seeder (2) Zero Till

(3) Straw Management System (4) Raised Bed Planter

(152) 34



133.

134.

135,

(152)

et e fewm ¥ #-w R wll swge g 7

(1) ¥oft =&t et (2) @ &=

3) |I Y& q a3 (4) =T IT W
Which instrument deals with primary and secondary tillage?
(1) Mould board plough (2) Desi plough

(3) Rotavator (4) Disc harrow
mﬁﬁ?ﬁﬂﬁﬁa%qﬂ:-mdimﬁm?? |

(1) ez 91d @R | (2) 3 s

(3) TR 4) o=

Which type of tyre should be used to avoid compaction ip fi
(1) Bladder tyre

eld?
(2) Narrow tyre

(3) Regular tyre (4) High dotted tyre
dmam%g@aﬁﬁwmmmmﬁwmé?

) =T () @ o (3) W o ) ¥ Wy oy

Which type of tynes is used in zero till?
(1) Inverted T opener : (2) L type
(3) Traditional tynes (4) None of the above
35
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T2 e A frm yer & agw w@m d w9 €2
(1) 39¢8 & *Mim S
) T @) A § 3 A T

136. For accurate seed rate, which type of metering device is suitable?

(1) Cup type (2) Inclined plate type
(3) Fluted roller (4) None of the above
i @i @ ¥ IA-H e fearw swgw 27
(1) %9 TW (2) TS <A Y
(3) TS TR @) 30§ 3 A A
137. Who discovered the nucleus?
(1) R. Brown (2) T Boveri (3) Fontana (4) Palade
qied @ feed & fi?
1) s 3 () &lo dad (3) B (4) TER

138. Which one is the right order of mitotic phases?

(1) Prophase > Metaphase > Anaphasc > Telophase

2) T elophase > Metaphase > Anaphase > Prophase

(3) Anaphase > Metaphase > Prophase > Telophase

4) prophase > Anaphase > Metaphase > Telophase

36
(152)



139.

140.

141.

(152)

uRARE T W OGE o 27

(1) S > Ferhet > TR > Aeihe
(2) &NMES > AeHS > TR > T
(3) THS > ATH > Wihsr > Feirdr
[4}m>m>ﬂaﬂr«r>aaﬁm

Nullisomic refers to

FeiSif weita = 2

(1) 2n-1 (2) 2n-1-1 (8) 2n-2 (4) 2n+92

Duplicate gene action refers to

gt 7 ¥ et e 2

(1) 9:3:3:1 (2).15:1 3) 9:7 (4) 3.3

Krantz type leaf anatomy is found in

(1) C, (2) G5

(3) cAM (4) None of the above

Rt 3 3 el 0 0 o ey w40
(1) C, (2) Cs

(3) m (4) IR T & 3¢ g

37
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142. The plant in which water use effic
(1) CAM

3) C,

iency is higher is
(2) C4

(4) All of the above

FA NG A S ITE A i drar 27

(1) Fm (2) Cq

143. Day neutral plant is
(1) maize
(3) rice
3 mge den FA-H 27

(1), = (2) SR
144, The term vitamin was propOSed by
(1) Funk (2) Fisher
Tl C i R T e
(1) & (2) T
145. Dark reaction takes place’in
(1) Stroma (2) Grana
< R & A R
(1) & @ 7

(152)

(3) C, (4) I® W

(2) buckwheat
(4) Both (1) and (2)

_ (3) 4 (4) (1) @ (2)
(3) Watson (4) Shelford
(3) aTeEd (4) FeWE

(3) Chloroplast  (4) Golgi body

(3) TR (4) et &

38



146. Evergreen Revolution term was coined by

(1) M. S. Swaminathan (2) B. P. Pal
(3) Norman Borlaug (4) Joginder Singh
T-TE wifa weg fhe fan?

(1) Wo THo WA (2) o dto Urd

(3) A7 st | (4) S e

147. BISA stands for
(1) Borlaug Institute of South Asia
(2) Borlaug Institute of Semi Arid

(3) Barley Institute of South Asia
(4) None of the above

Hoamowm@oto ¥ TG 2

(1) S F=E=ge e TRy uipn
(2) S TR AF A e

(3) el FRIE % @y oty
(4) 3% & @ FE T

148. Mass contact is communication for
Tad R R @ w7

(1) 2-5 (2) 10-12 ] Py
¥ > 30
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149,

150.

MANAGE is situated in

(1) Hyderabad (2) Muradabad (3) Patna (4) Delhi
S wel a2
(1) e (2) UEETE (3) W& (4) fegt

Training and Visit System was first introduced in the State of

(1) Rajasthan (2) Maharashtra

(3) Uttar Pradesh (4) Puducherry

éﬁn@gﬁﬁzmﬁmaﬂﬁmmﬁg@ﬁmW?

(1) TR (2) TERE (3) I FaW (4) Tgod
40
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Section—V
Qug—vy

PHYSICS and MATHEMATICS

(Physics)
151. Parsec is unit of
(1) time (2) temperature (3) distance (4) speed
THF T R
(1) = 6t (2) dqUHH H (3) gf A (4) 919 H

152. A vector in two dimensions has maximum number of components
feffia afem-uftt & el A s e 2
(1) 1 (2) 2 (3) 3 (4) 4

153. A particle of mass 4 gm moving with i -
: g with a velocity 10 m/sec strikes -
mass 16 gm and sticks to it. The speed of the system ig SiRicef

4 8m FHH H TH B 10 m/sec ¥ A1 ¥ T A &
f@nmﬁmwﬁ%m%ﬁmwh%ﬁ 10 8m T

(1) 25 m/sec  (2) 40 m/sec (3) 05 m/sec  (4) 5 m/sec

154. A body in circular motion with constant speed has
(1) constant velocity

(2) no force acting on it
(3) no acceleration

(4) no work done on it 1n one cyye

(152) 41
P.To,



fer o @ freft gefte oy w nfavier feelt fiog

(1) & a1 for d@ R (2) W A o T& AT 2
(3) 1 HIT R T g R (4) W wh o § F§ FE A R
155. In a satellite weight of a 60 kg man is
(1) 60 kg (2) zero
(3) infinite ~ (4) between O and 60 kg
60 kg m ¥ Prft =fs 1 foredt Iwg & wR g
(1) 60 kg | (2) I3
(3) I (4) Y@ @ 60 kg % ¥
156. A capillary with one end dipped in a liquid has same level of liquid inside and
outside it for the value of contact angle
(1) 0° (2) 90° (3) obtuse angle (4) acute angle
@mﬁﬁ,mwmaﬁw%,mﬁmwwﬁ%wﬂs
e 2 & R R Ho HAH g
(1) 0° (2) 90° (3) IR FW (4) F B
157. A spring stretched by 5 cm has potential energy V. If it is stretched by 15 cm,

then potential enerey is

fred T & & om fa W e ke o v R A W 15 cm W, @
oy foafe e &N

5 & v
(2) oV 63 @ 5

42



158. For a falling body of spherical shape in a liquid with terminal velocity v (r being
radius of body), which of the following is true?

(1) vr is constant (2) v/r is constant

(3) vr? is constant (4) v/r? is constant

foeht za o fordt nicha five &, Red B r ), v M A PR m B & 2
FH T 27

(1) or P ® 2 (2) v/r PR R (3) vr? P 3 (4) v/r* Fams R

159. The mean translational kinetic energy of a perfect gas molecule at T°X is
(k being Boltzmann constant)

ﬁmmﬁa%ﬁmaﬁaﬂmnﬁimﬁKWWﬂ?ﬁ%(km
fais 2)

(1) kT (2) 2kT (3) % kT @ _152_1:

160. A drop of liquid of radius R splits up into 10° droplets

of radii r, |f
tension of liquid is T, the energy needed in the procesg surface

is

R B & & oz r fiow 1 106 7 93 § fomr ot
s s 3§ = s A w LI RS

(1) 4=RT (2) 40nRT (3) 396nRAT (4) 99nR2p
161. The average velocity of ideal gas molecule is given by
el e F o W e M g 2
8kT 3kT 8RT
-y - &) @) [3RT
m

(152) 43
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162.

163.

164.

(152)

37Caamot engin.e operating between a reservoir at temperature T and sink at
C has efficiency 25%. The value of T is

(1) 127 °C (2) 127 °K

(3) 400 °C (4) None of (1), (2) and (3)

T AW % Uh €a wd 27 °C & TF % & o9 o HQ 9 T FE A 6
Q& 25% g1 99 T 91 9H ?

(1) 127 °C @) 127 °K

(3) 400 °C (4) (1), (2) @ (3) ¥ & =3 T

In wave equation x = 2-0 cos [0-50t+ %), x is in metre unit and t in second unit.

The maximum acceleration of the medium particle is

qar gt x=2.0cos(0-50t+%)ﬁ x HT @ t Jave TR A | WMEW F H0
1 e O @

(1) 0.05m/s> (2 0.50m/s? (3) 2-0m/s? 4) 2-25m/s°

sound with frequency v is moving away from a stationary observer

A source of )
ty equal to velocity of sound, the frequency heard by the observer is

with a veloci

vmﬁﬂ@mﬁa\a%fﬁlmﬁaﬁﬁwﬁﬂqmmé,mm
@ﬁﬁﬁmﬁ

) vg (2) v (3) 2v (4) P
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165.

166.

167.

168.

(152)

The work done on an electron revolving around nucleus in H-atom in one
complete cycle is

(1) 136 eV (2) -13:6 eV (3) 102 eV (4) zero
H-vomy 3 1fes & S ot oy s w o 9% 3§ R W @
(1) 13-6 eV (2) -13-6 eV (3) 10:2 eV (4) 3

Which one of the following is not a semiconductor?

= %R ordarem 22

(1) GaAs (2) si (3) Ge 4) c

A piece of Cu wire of length L is drawn into a wire of length 4L, Ty resistance of
the wire becomes

(1) one-fourth () four times (3) sixteen times (4) two times

Lmﬁﬁwaﬁ%maﬁm%mmwiﬁtmim
1 T AT e 3R T

(1) Th-eerd (2) SR T (3) W T (4) ? T

Molecules of a substance are like small tiny magnets. The

Substance jg
(1) diamagnetic (2) paramagnetic
(3) ferromagnetic (4) nonmagnetic
mw*wmmﬁménm%
() fergraefia @) I (3) ey (4) Sy

45
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169. A radioacfive substance decays to one-eighth of its initial mass in 9 seconds.
The half-life of the substance is

v Wi gad o Y%z § @ gEWE W ed WM ® SRl wed A
G-

(1) 3 seconds (2) 72 seconds  (3) 2 seconds (4) 27 seconds

170, Tu wulivell @ galvanomcter into a voltmeter one needs

(1) low resistance in parallel (2) high resistance in parallel
(3) low resistance in series (4) high resistance in series
el Aearricy | e # weER & fag =g
(1)Wﬁ$ﬂaﬁfﬂﬂ (2) TR § 3= Wiy
(3) Avfien & =7y (4) dfipn 3 3= Wl

171. Dimension of L/R 18
(1) that of time-period (2) that of frequency
(3) that of current (4) that of voltage
LR # A TR,

(1) TR A () mEf A @) frep-wa A (4) FEr 6

172. Which on€ of the following is true?

(1) Heat waves, light waves, microwaves and radio waves are of same nature

(2) Heat waves, light waves, microwaves and sound waves are of same nature
y

(3) Light waves, microwaves, sound waves and radio waves are of same nature

i i0 waves are of same natur
(4) Heat waves, light waves, sound waves and radio nature
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fm i & 9 g 7

(1) Fom, v, Wigehl, o W aoh i i w R
(2) 1, YHWI, WGl @ @R W A FR @ R

(3) whr, "TEEh!, @it wa W i H vk w R
(4) FuT, v, @R e o f vl o R

173. Which one of the following spectral series of H-atom lies in visible region?

(1) Brackett (2) Balmer (3) Lyman (4) Pfund
H-vemy i Saga ARl § 9 g@ W # 7
(1) s (2) smR (3) WATEHA (4) Fvg

174. In Young’s double-slit interference pattern, a fringe-width is
(1) width of a dark band
(2) width of a bright band
(3) width of a bright band + width of a dark band
(4) half of the sum of widths of a bright band and a dark band
& f-R e & v @ e
(1) m%ﬁﬁ;@%mmg
(2) W g K N F www qef 2
(@) ¥ T WA WA A et & A F w3
(4)m@ﬁﬂqﬁwﬁﬁﬁgﬁﬁ%mﬁmﬁ%mwg
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175. Which one of the following is true?
(1) In photoelectric effect, light behaves as a wave

(2) In photoelectric emission, there is time lag between photon incidence and
electron emission '

(3) Photoelectric emission is possible with any frequency light

(4) photoelectric emission is possible with light of frequency above a certain
minimum value for a given metal

f= d 9 e w87

(1) SHIETYY W9E # THR q0TEq SEeR HE ]

(2) TR, S B A0 T FAEgA e de R B
(3) felt oft AR & TEW B TG IS FE R

(4)mu@%mmﬁmwﬁq@ﬁﬁﬁam§%%mﬁwﬁ%m
38w R

48
(152)



176.

177.

178.

179.

(152)

(Mathematics)

In a group of 800 persons, 550 can speak Hindi and 450 can speak English. The
number of people who can speak both Hindi and English is

sooahﬁ%@mmﬁssoa‘mf%z“ta‘mm%aﬁwsoahaiﬁsﬁa’mm
%lﬂ@ﬁﬁé@@%ﬁmmﬁﬁami,m

(1) 250 (2) 200 (3) 150 (4) 100

The third term of a GP is 4. The product of its first five terms will be
mmm:qiﬂmua4%1m’}0ﬁ%mvhmﬁﬂmm
(1) 45 (2) 4° (3) 4'° (4) 25

The vertices of triangle are A (1,1), B (4,5), C (6,13), The value of cos A will be

T B & MR A(L1), B(4,5), c(6,18) &, 7 cos A F Wy gy

61 63 57 59
1y — 2) — 3] =
”63 “65 “65 (4)55
ffA(—Q,I],

B (2, 3), C(-2 -4)are th ints. t
is )are three points, the angle betweep, BA and B¢

:&"A(_z,n, B(23). C-2-4) 0 A &, @ Ba sk pe % o ay

0= ] ) s
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180. If the line passing through the points (a, 2a) and (-2, 3) is perpendicular to the

181.

182.

line 4x + 3y + 5 =0, then the value of a is

afe el (a, 2a) 3R (-2,3) § T areht T GEREl 4x+ 3y +5=0 & A
A, qA a F WA A

14 16 18 12
(1) — oo
3 (2) S (3) 5 (4) 3

The slopes of the lines which make an angle of 45° with the line 3x-y+5=0
are

m‘t@aﬁﬁwﬁﬁ@mx-ws:oﬂam45°aﬂma=rr<ﬁ%.€ffﬂ
(1) -2,3 @ 2,-3 3) -2 3% 4 -2, -1

The equation of the tangents to the ellipse 4x* + 3y* =5 which are parallel to
y=3x+ 7 are

Wz;xhsy?:sﬁmmi‘@laﬁsﬂy=3x+7ﬁimﬁ,ﬁm%

155 95
=3X T4 "Ta" =3xt ., |—
(1) y=3x*y73 2y 5
135 155
3) y=3x*y7o (4) y=3x ¥y
eSlog,x__e‘Hog,x
183. The value of [ Sor. g lon dx equals
4log. x
! es_h_,,_f———ﬂw'eglg _ dx F A R
eglogex__e OBe
2 4 5
3 X X X
X — 3] —+C 4) ——
i +E B g+ ) 4 T +C
50
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184. If P(A)=0-7, P(B)=0-7 and P(B/A)=0-5, then P(A/B) equals
afk P(A)=0-7, P(B)=0-7 3 P(B/A)=0.5, @ P(A/B) %l A &

3 5 6 42
(1) 1a (2) a (3) = {4) 7
185. If
e
1 X x+1
flx)=| 2x x(x-1) (x+1)x
3x(x-1) x(x-1)(x-2) (x+1)x(x—-1)

then f (100) equals
[ £(100) F 7H 2

(1) o 2 1 (3) 100. 4) ~1oo
a b c
186. Ifmatrix A=(b ¢ q and A? = J, where a, b, c are posit:
c ab v PORIE frg Numbers sych
that abc =1, then a3 + b3 4 &3 equals
a b c
R IR A=|b ¢ a M A2-7 gafs g
= O’ b
. & d b ) >0,C>0, abe =1 3}’ H)f
al+b3+cd IC E"h'l'l
(1) 1 2 2 (3) 3 @) 4
(152) 51
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187. If

af
~cos 4
flx)= 1 cogs x %<0
x
— a ,x=0
Jx

N Y
V16 +Vx -4

then for what value of a will f(x) be continuous at x=07?

Ao R F A f(x) R x=0 W F@ Tm?
(1) 8 (2) 6 (3) 4 ) 2

188. If

x® sinx cosx

fix)=|6 -1 0

p p* P’
- d’f (x) :
where P 18 2 constant, the value of o at x=0 is
2
(1) P (2) P+P
@) P+P’ (4) independent of P
7

3 sinx cosx
f(x)={6 -1 0
p p> P°

I

" ) P+P? (3) P+P° (4) P ¥ &aa
(152) >



189.

190.

191.

(152)

3n .
If the normal to the curve y = f (x) at (3, 4) makes an angle v with the +ve
x-axis, then the value of f'(3) will be

3n
M y=1(x) % g (3,4) R e o X-3 F WA =L T FO W
3@ f(3) W A dm
(1) -1 (2) 1 (3) -2 (@) 4

If the diagonals of a parallelogram PQRS arc along the lines X+3y =4 and
6x-2y =7, then PQRS will be a

(1) rectangle (2) square
(3) cyclic quadrilateral (4) rhombus

U% WAARR 9g4S PORS % fael X+3y=4 3N 6x-24 -7 W %, @ PORS
Hulcs

(1) 3| ' (2) a‘f
(3) TN s (4) Tfradh T
if le_sz" +Bix+Byx? + ... then B, -B, 1 is equal to
?llﬁ lsix =BU-+le+B'zx2+"'s ﬂ:} Bn _Bn—l W ™ m
1 1 :
(1 ~ @ T3 K (4) —
n n-1 L ] (_;-T)l
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192.

193.

194.

(152)

AB is vertical pole. The end A is on the level ground, C is the middle point of AB.
P is a point on the level ground. The portion CB subtends an angle § at P. If
AP = x AB, then which of the statements is correct?

AB TR TEEIER W 2 FEE A U wwae sie w2 i AB 1 wefag C R
ﬁﬁpwaﬂqm%aﬁ'{mCBﬁ%PWB?ﬁﬂlm%lUﬁAP=xAB%,
dal PI-d1 HY9 A B 7

X
1) sinp = 2) cosP=———
(I mm 1 (2) cosp=——7—

(3) tanp = (4) cotP =

X
2x? +1 2x% +1

P(x y),Fl(S,O],FQ("3,0) are three points. If x and y satisfy the relation
16x2 +25y* =400, then PF) + PF, equals

P(x y), Fi(3,0), F2(-3,0) from R ¥oAR ox Wy ¥ wry
L6 +25y% =400 femm B, @ PR, + PR, 1 g

(1) 8 (2) 6 (3) 10 (4) 12

1 =3
Suppose a, b, c are in AP and a?, b2, c? are in GP.fa>b>canda+b+c=3,

then the value of a is

mﬁabcﬂﬂﬁﬂWﬁﬁaﬂ'{aQ,bz,chﬁma"ﬁﬁ%kﬁ%a>b>caﬁt
a+b+c=%,?ﬁa7ﬂﬂﬂﬁ'ﬂ

1442 D il 1
" Q) ~% B 5 @ -1
(1) 2\6 2 23
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] 334
1 iJ3 iv3
s o VA s A equals
195, Ifz-,{‘ 1, then 4+5[ 2+ 2] +3[ 5 2] q

iV3 i3]
ﬂﬁl-,f_ ?ﬁ4+5[ 2- } +3[—§+—-—} %TFIFI@"TT

(1) 1-iV3 2 -1+iJ/3 (3) iv3 (4) -iV3

196. If Sflx)=x? + 2bx + 202 and g(x)=-x? —2¢cx+ b2 are such that
minima f (x)> maxima g(x), then the relation between b and ¢ is

Wﬁf{x} =x2+2bx+20? ain 9(x)=-x*-2cx+p2 @ %oq B f(x) ®
e T 9(x) % SR 2 %31, 7 b o ¢ % e oy

(1) b<ec (@) O<e<bV3  (3) |c|<|b|42 @) lel>(b(a

) 22 2 lfﬂ
197. The value of lim (1 + ——2—] [1 + ——EJ . -[1 L
n

nsw n ?12 Is equa‘l to
im |( 2) [ ey
m 14— 142 |, i
JKim = J[ +n2} (1+ H 1 9H B
nj2
nE._ 2 2e"/?
) 2e? @ =5 1t/2’ (3) "*je*.:- (4) 2e21/2

198. Which of the following. ig correct?
(1) Median + Mean = 2 Mode

(2) Median - Mean - Mode
(3) 3 Mean - 2 Median = Mode

(4) 3 Median - 5 Mean - Mode

(152) 55
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199.

200.

fmd @ 99 99 ®7
(1) wiferh + W = 2 qEID (2) WTfEReH

(3) 3 Wea — 2 WierEH = AP

ix(axi

]+j><(&_><j)+if\cx(a'x?c) is equal to

ix(Ex?)+jx(Ex3)+£x(ﬁxfc]EFTW%

(1) 2a

The equ

(2) 3a 3) 0

ation of the curve satisfying the equation

and passing through the point (0,0) is

gHiw

(1+y’~’]dx+(x~ét§““y)dy=o # Fq

i o itma @) xe™

* k%

56

—W:E@E

(4) 3 Wifers — 2 WA = TP

Ql

(4)

(1+y2]dx+(xﬁ§m_ly)dy=0

T I e T

-1 2) xecot"‘ ¥ _tan"] y

y—tan' Y

D/ 6(152)—16000
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11.

12.

13.
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